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MULTIPLE CHOICE QUESTION



> Inventor of C++ is

>C ++ T 3TTAShRh

a) Martin Cooper
b) Vint Cerf
c) Charles Babbage

d) Bjarne Stroustrup -
e) None of these




——

»>The ter @ eans

>CRM &T GUT &9 &7 §IdTl &

a) Channel Related Marketing

b) Customer's Relative Meet

c) Customer Retention Manager

d) Customer Relationship Management -
e) Channel Root Market




» Computers send and receive data in the form of
T

signals.

signalsafT T H 3T A 3R 9°d ad %I

1. Analog 0 <,
\
2. Digital 4mm Cﬁ"\\}g\\“
3. Modulated _ \}\
4. Demodulated %\X Q,\\
5. All of these Y R\\// 99%/




>What is the full form of = O
LAN

> CAN T qUT &9 &7 gIdT ¢ ?

Campus Area Network -

1. W\
Aﬂl

2. Control Area Network b W

3. Campus Arm Network @PsV) w

4. Control Arm Network \/NA

5. None of these.




» Bluetooth is the example of

> solcd T 3CTed0T &7
PAN -

CAN

MAN

LAN
SAN

A S




)

>Who is the founderofseoesie2—"

> Google &7 JEATIH hiol 87

Larry Page and Sergey brin -

Bill gates

Elon musk and George w bush
. Niklaus Wirth_
None of these

U TN




ort number

e HTTP UIC J&X

e) None of these




»what is the full form o@

>DNS &l qUT 9 T gl § ?

A S

Domain Name System - (\

Dynamic name system

Domain Name System
Domain Name System
None of these




» Which of the following extensions suggest that the file is a backup file—

>$Fﬁfr T hid T TFHC2UT Tl %’ $r Ig Backup HISel grar %’

None of these '
@




Mnemonics were used in

»Mnemonics T TITIT

?

ﬁﬁmm%?

»Machine Level Language
»High Level Language

» Assembly level Language -

» Low Level Language
> None of These.

o\® \®

EO
UG




»Which is not a correct IP address?

>3 Ueh IY 3TSUT 9dT =gl &

»>127110.112.1¢9
>192.168.10.20

.260,100.190

>‘%31.221.101.211)




»SIM stands for?
>SIM T qUT ®9 T gidT &7

»Storage Inline module
»subscriber identity module-
»Sample Inline Memory
»Subscriber Inter module

»None of these




» Which of the following keyboard shortcuts displays the start menu in the
Windows operating system?

qaﬁFr HLAT 87

»Ctrl +Z
» Alt + Spacebar

> Ctrl + Esc-

> Alt + Enter
> None of these

et A @ Sl @1 HIEls 2licehe fasier ARET f¥ed 7 e Ay




»Which Loader is executed when a Computer System is First Turned On?

>l [AEEH T ggell IR dle] el T sl AT s foasaricd giar

g?

»Bootstrap Loader- N
» Control Loader

> System Loader 05
—
»Web Loader \

> None of these \,"
&
(/Q,QQ




> is the process of taking steps to help a website or piece of
content rank higher on Google

> ’ frdY agarse Ir |l & gﬁ% %l Google TX 3= I+
Gl H HGG el o TolU SheH 30T T YihdT &
AU
»>SEO 4um SN N A

\
»MEO %Q'\ Qb
»None of these /
»All of these




» The difference between the people having access to computers and the
internet and those without this access is known as the —

>HYET 3R eele deh 9§ T@A Tl ﬂﬁ?ﬁﬁ?é‘\ﬂrw*ﬁm
e & T & AT H o T H AT ST g

»Internet divide
»Web Divide

> Digital Divid e
»Broadband Divide
»None of these




> is a type of malicious software that infects a computer and restricts
users' access to it until amount is paid to unlock it.

> Teh YR chl3§34ﬁ7:|?lTCI'Usf AIFCAI § Sl Hege Hl HohfAd
FAT & AR IUIRTRAIST vl 38 deh Tgd_ Pl dd doh Yfaeted ad
g oid do Toh 3 37cTclich el o TolT T AT sTel fohar Srer

gl
ansomwa -

> Hardware

»Range ware
»None of these




X Benchmark” @ns

> SIHTh g

a. Benches for customers to sit
b. Benches for salesmen to sit
c. Products displayed on a bench

d. Set standards -

e. All of the above




» Computer programs are written in a high-level programming language;
however, the human-readable version of a program is called

>¢»qc<mmwmwﬁmm% gTellfeh, WaImH
& HITd-UST GEFIOT I el ST &

i\SNord sized - \ (C) ,\’\Mﬁ‘\ O\D)%'
ource code c — e
»Instruction set W LD/

» Cache
> None of these




» Most application software’s today come with an interface called a (n)

> 3 m%mgqmﬁw 3T Ueh 33 & A1 ATd g o
chal Sild

?
w’\‘ﬂ’w
> Button user interface ‘i/
»|con user interface %C}:(
- N\

> Character user interface

» Graphical user interface-
»None of these




»\What is the difference between mnemonic codes and machine codes?

>AAifAe HIg 3R AR HIs 7 FA7 AT 82

»There is no difference.
» Machine codes are in binary, mnemonic codes are in shorthand English.-
»Machine codes are in shorthand English, mnemonic codes are in binary.

» Machine codes are in shorthand English, mnemonic codes are a high-level
language

> None of these




» The Circuit used to store one bit of data is known as

> Ueh ¢ 32T &l TR el & TolU 39T fohU SITel dTel Hiche Al
o ®9 H AT ATdT &

» Register
> Encoder
» Decoder

(> Flip Flo

> None of these




»Which of the following is the lowest memory hierarchy?

>ﬁﬁ'ﬁﬁaﬁamﬂa@3ﬂ?ﬂﬁlﬂé¥qqlﬂwﬂ%

»Cache Memory

»Secondary Memory- \gﬁ )
» Register Q\M
>ROM CW

» None of these X/DN,\ QO
D




»An input device which can read characters directly from an ordinary piece of

paper is?

» Teh Sa14

<lonc

%_O

< f3arsd St SETeT & Ueh HIUROT gohs & WY &R g

> None of the above




»What was the earlier name olfjava? ‘

> SIdT ohl JeAT oATH 1 AT ?

> Numerical
> State
> JRE




» Which of the following is not a programming language?

>TArafaf@a & O Sia I gEnfdeT g J387 82
/

: B’B

i e

(E) None of these




usedfor?
> qIded &7 39T fhaes fow fehar Srar g2

\
»Powerpoint Slide ShOW-
» Powerpoint shutter

» Powerpoint shock

»None of these /

> All of these




» Which of the given combinations of File type and its extension is incorrect?

> BISd YR 3R 39 TFHeed & f&U a0 Al # & i ar
I &7

»MS Word
»MS Excel (‘)g)(
»>MS PowerPomt \

> MS Outlook — .out-
> All of the above are correct




> is a small picture on screen that depicts program, file or folder.

> Thlel I Teh BIET I &R g ST 9EITH, Bl AT Blesy i
GolTdr gl

e 0 G
[\ﬁ

B Virus

ot

E Pixel

/




» Codes consisting of bars or lines of varying widths or lengths that are
computer-readable are known as-

> 3TeTdT-37e14T ISl AT Tﬁﬂé h an-\r I oSl 8 GebeF-This ol hoged-
qm %-, a; dal 1 d %‘_

A AnlASCII code
B None of these

Ca bar code -

D an 0 scanner
Ea magnetlc tape




» Which key is used to delete characters to the left of the cursor?
>3ﬂﬁ@ﬁmmﬁwqﬁwéowc<aﬁaﬁrawﬁgaﬁﬁﬁnn
ST & ?

> Enter
> Shift

>None of these / STH & Eﬁé gl




» Optical Mouse is an example of

> 3TCeehol AT 3cTgI0T gidl &

>§canning Device

> Xerox machine
> POS
>SOP

> Pointing Device-




»The alternative name for application software is

> UTCAIhale HIFedaX ol 3T el JTaT §
> utility software &
»practical software

>End User Softwa@ @

» Specific Software

>None of these @

>

=




» |f you change Windows 10 operating system to Windows 11, then it is known

dS—
>§@Hloﬁ®ﬁﬁfﬁwaﬁ%@allﬁqﬁaﬁd P Pl gl Al

»Upgrade -

»Update
» Patching
»Separation

»Merging




»Which one is not an impact Printer?

>$ﬂﬂ@aﬁﬁmimpactﬁﬁﬂﬁ% ?

» Dot Matrix Printer
» Daisy Wheel Printer

» Chain
>ThermaI- X
»None of These /XX\Q%
WY
XY
Q,\S
ﬂ% 033‘
72 %'Q-




» The slogan\‘Write once run anyv@ related to which of the following

programmmg lang

g slogan "Udh d %I'@IT
:ﬁr T Fad gefadg &2

> None of these

r 9t ST " e

Tl FTTTHeT T3




» Which of these devices is installed in the computer to plug a network cable
coming from the modem?

SHISH I 37

39ehiU

&

> USB Drive

> Network Interface card

» Data card
> None of the above
> All of the above

I‘-I(‘l G

il

?r o||<>1 cdoh ohaol ohl Toldl il & ToIT chbua H hieT T




» Restarting a computer that is already 'ON' is referred to as
> gl ¥ &1 3T &g el dled el &l i & Y& el

A) Shut down
B) Cold booting

C) Warm booting-
D) Logging off




> What is full form of TIFF?
> TIFF T Bt BIH AT &7

»The Image File Format
»Tagged Image File Format-
»Tagged Image File Front

»The Image Fax Format
»None of these




»Why OMR is used?

>OMR T 39T AT AT JATAT §7?

»Scan mails
»Scan images
»Scan documents

@an answer sheetsB

> None of these




» Which among the following is a device that is used in computers to add
external components?

>TArAflf@d 7 @ S T1 Tk 3UHIOT &, [STHaT 39T Feged # g
Emﬁﬁa#:ﬁgﬁésﬁmiﬁwmﬂaﬁn%v

=
> Storage Device such as USB 5%

» Keyboard
> Ports / System Boards-

iz
»RAM \////’




» Which are the input devices that enable direct data entry into a computer
system from source documents?

>l H ZAYC T3a18d § ST Gid SEddsll 8 hegeX ReeHA H @Y
ufafse &1 Je1 i 87 A

»Data Scanning devices-
» Data retrieving devices
»Data acquiring devices
»System Access devices

ST




» How can entire column be selected in MS Excel?
> MS Excel H QY HIIH T H8 Tl ST Fehell &7

» By pressing Ctrl + Space-
» By pressing Ctrl + /

C
» By pressing Ctrl + D (J\(f\}* 7L

> None of the above \)




»Who among the following considered as the 'father of artificial intelligence'?

>Afei@d 7 @ 58 'SR qefr T Sold A0l &7

A. Charles Babbage
B. Lee De Forest

C. John McCarthy-
D. JP Eckert /(




» A computer on internet are identified by:
>3 T Teh hegeX GART JgdTel ST g

A. E-mail address
B. Street address

C.IP address-

D. None of the above




>

is the process of dividing the disk into tracks and sectors

> %Wa#%ﬁiécraﬁﬁmdyﬁj%"%
- W‘ﬁ'; =

racking T/
@tting ,"e"
» Crashing %

» Allotting




»Which layer of the OSI model performs segmentation of a data stream?

»O0SI ATSel &I dhied AT T SeT TIH &l [AHTSTT LAl 872

a) Application layer

b) Network layer

c) Physical layer

d) Transport Iayer-

e) Presentation layer




» Connections to other documents or to other locations within a Web site are

> dd Igisc & HIdX 31T S&EAdall AT 30T TATT & ol & folv
&l TAeT fhar ST §

a) hyperlinks -

b) bots
c) hyperconnects

d) filters
e) None of these




»To what temporary area can you store text and other data, and later paste
them to another location?

>3 oy 3EURT &7 # Urs 3R 3T 3T TIULId N dohd g, AR dlg

H 3og [hdr 307 T

(a) The cllpboard«
(b) ROM

(c) CD-ROM

(d) The hard disk

(e) None of these

I 9T UEE Y Johd g°?
LOT g
ot




» Programs such asi Mozilla FiEEEZ; that serve as navigable application into web
are called

> AT BRRWBIFH S NaH S 99 H A Hlel J9T TTelherd
& T H P Hd & hedlld &

a) Networks
b) Hyperlinks

c) Web browsers-

d) URLs
e) None of these




» 1 Bit is equal to ?

AT

>(0,0) —?(k

& SN gl &




» The central processing unit is located in the

> ol JOTRI0T SHIS H Fua gl

»>Hard disk _—— —
» System unit-

»Memory unit
> Monitor
> None of these




» The participating computers in a network are referred to as:
>Tah ﬁg,déh H HET ol dlo el Al T & § H FalAd fehar
olldl &

o

O D
a) Clients
b) Servers O

e) None of these Ve




» Encryption and decryption of data is performed in ?

> 2T @1 TRRRCYE R R ST & fhar AT

»Physical layer

» Presentation Layer-
» Application layer

» Data Link Layer

»None of these




» Who is the first programmer in the history of the computer?

» HY & ST H Tgell AR FleT &7

»Thomas Eugene Kurtz
» William Smith

> Char

es Babbage

>Ada Lovelace

> None of these




) A

»Which operating system is developed and used by Apple Inc.

> aﬁa%mﬁq%ﬁwﬁlm Applelnc.mmﬁwm
ST gl

a)Windows 10ﬁ

- Qo
b)Blackberry —=
C AB‘ner'Ld___Zé 7 \\\?\YS& v\»‘ (- C)%

d)10

e




»Communication between a computer and a@board involves

transmission.

> g 3R FHIEls & 9 FOR A - gToT AMTAT gl
a) Automatic 90/_7D
E )) IIE_IuaI :Ei(:uupﬁlez %mi’;"; 62516 5
i p
e; lillcr)r:wpe (:; these \‘;’U\’\' — B;Q/a




»(.edu)domain is used for:

> .edu SIHT & [T GATIT [hAT STt

(A) educational institution -

(C) International Organizations
oAt

(D) None of these
(E) All of these




» All of the following are the top level domains except ?

> TAeafeli@a &7 & Y top level SIAT & o ?

E—
node-

‘L p—

> None of these




» The way in which information is transmitted to multiple Internet-connected
devices is called?

> 9 e @ FIal &l 3c¥ae § o3 Fg 3UM0N & 9¥d fohar S
g, 34 el ST &7

» Internet Connectivity RO S \ e
»>|P Address @‘z' _
» Multitasking 7.3

e
>Mu|ticasting- \}\ ﬁ\},/ﬁ
>None of these Dgo e \\




» Caps Lock is a:
> ey dlich T g

(A) Window key

(B)Medifier key
(€) Toggle key 4@
(D) Cursorcontrol key




» Pick the odd one out?

> 38 § e Aohed I

»Google chrome
»Mozila firefox

» Safari
»0Opera mini




» By default, your documents print in mode

>T2hice §T A, IS SEAGH As & Peaag

a)Landscape

J
b)Portrait- —
c)Page setup 1
d)Print preview g
e)None of these |
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